External

nw /

®MAZ / Components

| (x®&% : TY-34)2008.02.08

No. %&# / Part name #HE / Pcs B / Material & - XENE / Color- Finish
1 Rl 2 B ABS (UL9LV-0 EHM) JguL— ,TIv 7Y
V | ew Side plate Flame-resistant ABS UL94V-0 Gray , Black
2 JOY I L—L 1 7V IR YWN= ,TIv 7 « THIAL b+ & 7V T7RE
Front frame Extruded aluminium A6063S-T5 Silver , Black - anodized & clear coated
3 UZ7IL—L 1 7 L I EHER YWN— ,TIyvs « ZLIAL b+ & o) 78%
Rear frame Extruded aluminium A6063S-T5 Silver , Black - anodized & clear coated
4 NXAB KRN 1 7 I8 A1100P t15 YWN=TFWIA b, TIy 7BK
Slide panel Aliminium A1100P t1.5 Silver anodized , Black Painted
5 RIEBDHARN 1 7 b 34 A1100P t15 YWN=T7 WAL+, Toy v BE
Screwed panel Aliminium A1100P 1.5 Silver anodized , Black Painted
6 LA (@ M3 x 10) 8 % =BE/oOx-+
Screw(Countersunk M3 - 10) Steel Black frivalent chromate
7 AT A HFREH M3 x 5) L % vy x  Z@EEsO0x- b
Screw(Phillips Trapezoidal head M3 - 5) Steel Nickel plated , Black trivalent chromate
8 JLR / Rubber feet A AR I L / Rubber 77v % / Black
n B AR EFARED) / Color TypelEnd of product numberd)
| | Rl / Side plate JL—L- XN / Frame- Panel
i i L — / Gray s VK= / Silver
n B 77y 7 / Black 77y 7 / Black
,_i ih _ -
- — - @ @ —
LN
(e}
(¢} (¢}
;_! !_4 L il

220

AR

B dJLE / Self-adhesive rubber feet

HR A SHT BT %

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

®% /Title
fElay tO—-wy5—2A
SLOPED ENCLOSURE

O

X2 /Approved
TR

RX /Checked
3

BN /Created |#'% /Product number
il CF22-110

RE /Scale
1.2

R —Y /Page

fFaXB /Date 2024710709

1/ 3

AREOEEEIH|RKXESHINTFERITEIZIRELE T, / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




RNt / Internal View

| (x®&% : TY-34)2008.02.08

| 2.5
. |
m 1
|
N . .
, BAW~E / Max dim. 207 =
s “ 30
< >
7 H
N 7 E—) = n - = [ il
; N 1 ° o - 8 Z\_l_’ - -
< 1 | |
= = !
gt S <
5 = s
© B
- >
w ~ ~
E " L
= a2 5
D - — £ - ]
e [ o o E Y L L
© - = (1 2
j —
® a
\:\‘.Lt /{ A b = . o
= B iew 5 NHABISF L (I
' crewed paneliinternal View A Slide panel (Internal View)
| R
- U
Ul
=
I ) g
-
[
|
|
- |
&% /Title
- O =)
HASHINTRMLE ERay bO-LT -2 @ |:}
TAKACHI ELECTRONICS ENCLOSURE Co., LTD. SLOPED EN[LOSURE
% /Approved | RO /Checked | B /Created |H% /Product number RE/S““:Z
iR 3 il CF22-110 —
R —Y /Page
fER B /Date 2024/10/09 2 /3
ANEOEEEIIMNXEHIHTFEMIZEIZRBLET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




| (x®&% : TY-34)2008.02.08

21k /NR)L / Screwed panel
206.8 L-9L .7

REY - M

Surface protfective film side

95.3

/INJLERME / Panel Frontside INAJLEE / Panel Backside

1.5

INAIAFH NI / Slide panel
207

REY - MU

Surface protective film side

95.4

INARJLERME / Panel Frontside JNFJLEME / Panel Backside

& /Title

ERIy tO-wHr—2A @ |:}

SLOPED ENCLOSURE

HRRHANFERTE

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

= & /Approved | RE /Checked | ®E/Created & /Product number EE/Scalen
X1 & & TR (F22-110 o
R —Y /Page
fEf B /Date 2024/10/09 3/ 3

AREOEEEIHRKXESHANTFERIEIZRELET, / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




	CF22-11 Model (1)
	CF22-11 Model (2)
	CF22-11
	CF22-11
	CF22-11 Model (1)
	CF22-11 Model (2)




